H & 0l & AHS B Ml A

D HYgEsn
C SERIHFH(HEEF D)
L ol22HH|(HA ST (crol: M el)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
2= 65,602,968 54,931,005 10,671,963
= 34,001,703
Al 21,999,301
- 9,511,964
HY2IZHI(HEERD) 68,323 69,575 A1,252
olEIHI(HEE2Ss) 44,443 41,483 2,960
oIF2IHI(HAEES1) 44,443 41,483 2,960
101 2124 d| 43,918 40,958 2,960
02 JIEt& 2 43,918 40,958 2,960
OAIZIEEHAIHOIS(BESAER) 43,918
—JlE2= 2,679,160 x1Z»12& 32,150
Pl E = 160,000& x 15+ 12 1,920
— Azt 285
9,860& *1G*30Al 2Hx 12 3,550
—Z gAY 140,000 x1H 123 1,680
— g2 2| 175,000 *35/40x1H » 12 1,838
— I 4]
2,391, 2002 *84%+86%*1/30%1/7x70A| 24+ 1 576
—SEA2S
2,391,290 *40/35+84%+8%* 1 + 122 2,204
204 MM AH| 525 525
2 EZH=2&H| 525 525
OUESH (AR LI IMOIZ2 (B4
&) 50,0002 *35/40% 1 = 128 525
[2ZHI(HEES) 23,880 28,092 AN4,212
Jl2dtl(H8E2sm) 23,880 28,092 AN4,212
201 L2 AH| 12,060 13,152 21,002
01 AtR2telt] 12,060 13,152 21,092
ORN2IYE=2| 5,400,000 x90% 4,860
OJ |2 RdHE20HA] 7,200
— By 8,000 * 14 53| 12& 6,720
—JIEtHA 8,000& x 1853 x 123 480
202 0idl 9,120 11,520 22,400
01 =WHOdbI 9,120 11,520 A2,400
OJ|2gR+dE=Z 0| 9,120
— B 50,0002 14+ 122 8,400
—JIEHE 60,0003 *1H 123 720
203 AR F=&lH| 2,700 3,420 AT20
M PA2IHRFALI 2,700 3,420 AT20
ORN2ILRFA|
250,000 * 122 x90% 2,700
dHTS AS 1,303,010 1,279,857 23,153
= 291,408
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AT HEE2S
M QMBS M
Cel: 8= 2l=et &5 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 64,000
T 16,000
Hgde 88 25 686,329 611,556 74,773
= 291,408
Al 374,815
- 20,106
Ols GEEs XY9al 23 6,336 11,540 Ab,204
201 er23 | 6,336 11,540 Ab,204
01 At2teltl 3,014 3,980 A966
O&FA =g 70,0003 102 +23] 1,400
Osl+=% M= 64,0002 64
OWdItEdmHe S22 MA
750,000& 750
OMONTH BX 25 AEIH M
800,000& %12 800
03 A= SHI 3,322 7,560 N4,238
OOlE =2t 91 (Y 0IE3 2o
3,322,000 3,322
HY0ts AEXZ0IE SSAIS 1,047 41 306
Al 1,047
201 er=23| 1,047 41 306
Al 1,047
01 At22t2ltl 1,047 41 306
OW4dots A XZ0IE 2S XA
1,047,000& 1,047
Al 1,047
Lol Mgy EiAblA 29 21,140 24,200 23,060
Al 10,870
T 10,270
201 er23| 21,140 24,200 23,060
Al 10,870
2 10,270
01 AlR22IH| 20,540 24,200 A3,660
OS0! QA EHIAHIA 2
20,540,000 20,540
Al 10,270
- 10,270
2 S22l 600 0 600
OS0! GiMotAEiE 2R
600,000 600
Al 600
e =8AY 25,000 0 25,000
Al 25,000
201 eer23y| 25,000 0 25,000




AT HEE2S
M QMBS M
=@t ogde B8 25 (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 25,000
01 AtR2t2|HI 25,000 0 25,000
OW oty = AL 25,000,000 25,000
Al 25,000
I EH4EA 2SR 146,712 141,280 5,432
= 73,356
Al 73,3%
307 @I2t01 & 146,712 141,280 5,432
= 73,356
Al 73,356
10 Al2ISTIAEEE2HIEX 146,712 141,280 5,432
OJtg=gaga 2802
146,712,000 146,712
= 73,3%
Al 73,356
JHd == Oloiod X2 3,500 7,000 23,500
307 el2tol & 3,500 7,000 A3,500
1 AMEISXAIEEXS 3,500 7,000 A3,500
OIIE =4 ToiAt A= & 0l At
3,500,000 3,500
=5 Ulolilk ESAE 29 201,079 197,473 3,606
= 140,755
Al 60,324
307 elztol & 201,079 197,473 3,606
= 140,755
Al 60,324
10 Al SXAIEEHE 22X 201,079 197,473 3,606
OMZ2 WgN HEAL So(TEs|Ue
ol) 201,079,000& 201,079
= 140,755
Al 60,324
= IlollA EsAl4E JIsEZ 13,920 0 13,920
= 6,960
Al 6,960
402 212 X201 & 13,920 0 13,920
= 6,960
Al 6,960
02 QI X2 AL EE(OIETHE) 13,920 0 13,920
O&== Lokt 23AIE JIs2d
13,920,000& 13,920
= 6,960
Al 6,960
=S U 25AIE 4T dAHS0 A2 9,139 8,947 192
= 7,639




2A: 2SI
M AHEHS &S
=@t ogde B8 25 (CHol: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 1,500
307 212+01™ 9,139 8,947 192
= 7,639
Al 1,500
11 AMSIESXAEEX 9,139 8,947 192
OHZ2 W§HK AL AT 4HSo
PN EEIGIES=IN3) 9,139,000& 9,139
= 7,639
Al 1,500
CIEZSMGHAESAIE SRS (BSAE X2 X 4,800 4,800 0
2l)
Al 4,800
307 212+01 A 4,800 4,800 0
Al 4,800
10 Al S XA EEHE2IHIE X 4,800 4,800 0
O4d=d Lokt EsAld X2 X
4,800,000& 4,800
Al 4,800
ZATHHAE F=HXIZ ALY 85,120 82,360 2,760
= 59,584
Al 25,536
307 QIZ2t01A 85,120 82,360 2,760
= 59,584
Al 25,536
10 AISISXAIEHE2ZHIER 85,120 82,360 2,760
OZ2AMFHOIE FHT VA
85,120,000& 85,120
= 59,584
Al 25,536
ZHTINAE FHXIAANY dUHES2 3,114 2,000 1,114
= 3,114
402 QI X201 ™ 3,114 2,000 1,114
= 3,114
02 QIZIXE2AMEEE(OIXTHS) 3,114 2,000 1,114
OIS =AMLY dUHES=
3,114,000& 3,114
= 3,114
ZHIIIH e AUE=sS A 17,220 17,480 AN260
Al 17,220
307 212+01™ 17,220 17,480 A260
Al 17,220
11 AR SXAMEE R 17,220 17,480 A260
Ol A=A
17,220,000& 17,220
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2A: 2SI
M ALES A
ool old ol B P8 (cie) 29
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
| Al 17,220
HEAHAAIE SAA 5K XA 2,950 2,800 150
Al 2,950
307 212+01™ 2,950 2,800 150
Al 2,950
10 AlSISXAIEHE2ZHIEX 2,950 2,800 150
ONFESNEA EAT =X N
1,050,000& 1,050
Al 1,050
O8=" Tloit ESAME SAMX =X X
1,400,000& 1,400
Al 1,400
OZZUIMHA FHIXRAAE SALA =X
X3 500,000 500
Al 500
HEHAAIE SALAL S22 1,200 1,400 A200
Al 1,200
307 QI2Hol M 1,200 1,400 A200
Al 1,200
10 AISISXAIEHE2ZHIER 1,200 1,400 A200
OIIE =G 4EA SAL SEHLHEH|
600,000 600
Al 600
OXZE Lokt ESAE SAK S
A &IH| 400,000 400
Al 400
OZGUIHHE FAHXIFAIE SAR SEAH
= la] 200,000& 200
Al 200
OHEHAAIE AIHIXIA Q1| 106, 145 54,438 51,707
Al 106, 145
307 QI2tol ™ 106, 145 54,438 51,707
Al 106, 145
10 AISISXAEHE2ZHIER 106, 145 54,438 51,707
OJME =8 agA SAEAL Al e1244]
42,597,000 42,597
Al 42,597
O&ZIIHA ESAIE SALAL AlHl 2124
| 63,548,000 63,548
Al 63,548
HEHAAIE SALL =Hl & 22k =5 12,960 9,000 3,960
Al 12,960
307 gI2Hol ™ 12,960 9,000 3,960
Al 12,960
10 Al SEXAIEHE2ZHIEX 12,960 9,000 3,960




AT HEE2S
M QMBS M
=@t ogde B8 25 (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OJIEZS NS EAN 220 2 228
=g 5,040,000& 5,040
Al 5,040
OSZHUHN EBAE SAK S| L
2|kt =2 6,000,000& 6,000
Al 6,000
OZALHOIE EHXRAL SAK 22|
2 22k =2 1,920,000 1,920
Al 1,920
CEHAANE SAK Al2tel =2 24,947 20,537 4,410
Al 24,947
307 gl2to| & 24,947 20,537 4,410
Al 24,947
10 Al SXAIEEHE2EHI2x 24,947 20,537 4,410
OIS ZE454 SAHL Al ¢
7,980,000& 7,980
Al 7,980
OEZ=Mol Xkt ESAIE SAHAL Al2tQl ==
g 11,888,000& 11,888
Al 11,888
OIS =AHXHAIE SAK A2+
=g 5,079,000 5,079
Al 5,079
22E IIE |4 10,429,715 8,260,288 2,169,427
= 5,786,633
Al 2,862,290
- 1,780,792
MNASIOHE Moty 2,105,970 1,967,520 138,450
= 1,602,200
Al 452,160
- 51,610
SHREEIIEIS 258l S A& 1,995,000 1,870,675 124,325
= 1,596,000
Al 399,000
301 EtE NS 1,995,000 1,870,675 124,325
= 1,596,000
Al 399,000
01 Al EE A ZS(2DEXMR) 1,995,000 1,870,675 124,325
OSIRL2IETH 2=l S XE(MAS &
22) 1,995,000,000& 1,995,000
= 1,596,000
Al 399,000
HFAEEREE NE X 7,750 10,325 A2,575
= 6,200
Al 1,550




2A: 2SI
M AL OIS 84
el MASIOHE MEory (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
301 LPBNZ 7,750 10,325 AN2,575
= 6,200
Al 1,550
01 A BE X2 (R REETHA) 7,750 10,325 A2,575
OF2HRE e 7,750,000 7,750
= 6,200
Al 1,550
SIREEIIE MHHu=E K& 63,220 51,720 11,500
Al 31,610
- 31,610
301 LetENEZ 63,220 51,720 11,500
Al 31,610
- 31,610
02 MBI EEAGS(HAAS, XLTHEA) 63,220 51,720 11,500
OerR20ts HtHu=s XA
63,220,000 63,220
Al 31,610
- 31,610
SIREEIIE s&)| MEotd X3 40,000 34,800 5,200
Al 20,000
- 20,000
301 LBENZ 40,000 34,800 5,200
Al 20,000
- 20,000
02 MBI EEAGS2(HUAS, XLTHEA) 40,000 34,800 5,200
OBIR2IIE =Y 40,000,000& 40,000
Al 20,000
- 20,000
JHE oldet = 7,401,592 5,510,741 1,890,851
= 3,857,410
Al 2,090,292
- 1,453,890
SHRRIIE =XAIE & 746,083 622,617 123,466
Al 746,083
307 2I2+01A 746,083 622,617 123,466
Al 746,083
10 Al S XA EEHE2FHIE X 646,083 622,617 23,466
OStREI2IHE SXAE(IEN2H) XA
630,783,000 630,783
Al 630,783
Ost22HtE SXAE(ERZ2R) SAK
SXE= X2 2,700,000& 2,700
Al 2,700




AT HEE2S
Y AHYE IIE |
&2l O elmet 2% (EEEE))
SA - ZE - BR(0) - HRAE - B of v G o HIDE2
OBR2HE STNE(UEN2E) SAK
S H A 1,800,000 1,800
Al 1,800
OBIRDIIESTAL(AHTRR) BAK
=gl & 22k =g 10,800,000& 10,800
Al 10,800
11 MEIEXAEE 100,000 0 100,000
OelA otol jéi’_%”( 0 BSO0l 25 3tetel)
100,000,000 100,000
Al 100,000
SIRRIIESXAE LAX A4EXZ - 2=H KA 7,000 7,200 A200
= 3,500
Al 3,500
307 glztol & 7,000 7,200 A200
= 3,500
Al 3,500
11 AMEISXAIEEXS 7,000 7,200 A200
OBISDIIE SXAL AAT HSXIR -
=8l X2 7,000,000 7,000
= 3,500
Al 3,500
SHREIIE SXAE g4 d45ilz XA 6,400 8,000 1,600
= 3,200
Al 3,200
307 glztol & 6,400 8,000 21,600
= 3,200
Al 3,200
11 AMEISXAEEXS 6,400 8,000 21,600
OBIRRINZ=XAL AT HEXIE X2
6,400,000& 6,400
= 3,200
Al 3,200
SHREIIE AIZ0t0IESAMdIA XIZ 66,528 62,857 3,671
= 46,570
Al 19,958
307 elztol & 66,528 62,857 3,671
= 46,570
Al 19,958
1 AMEISXAEEXS 66,528 62,857 3,671
OAlZ0I0IE=EABIA XI&
66,528,000& 66,528
= 46,570
Al 19,958
FALHRD OtS2=FH X3 AEA 15,000 14,400 600




2A: 2SI
M AL IIE 84
ol O elEet = EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 7,500
Al 7,500
301 LBBNZ 15,000 14,400 600
= 7,500
Al 7,500
01 AISIBE XS (2 RETME) 15,000 14,400 600
OFALEHRER Ots2sH| XA
15,000,000& 15,000
= 7,500
Al 7,500
Aot o123 K& 1,801,000 1,484,000 317,000
= 1,350,750
Al 315,200
- 135,050
301 LB F 1,801,000 1,484,000 317,000
= 1,350,750
Al 315,200
- 135,050
01 AISIBEH 2GS (2 UETME) 1,801,000 1,484,000 317,000
Ooxod ol XA 1,801,000,000& 1,801,000
= 1,350,750
Al 315,200
- 135,050
SMTH= NH 444,000 400,000 44,000
301 LPENF 444,000 400,000 44,000
03 A B EH 2GS (XY M) 444,000 400,000 44,000
OsatEHAZ XA 444,000,000& 444,000
IIEHE 2 (SEMHIA) 439,400 609,620 A170,220
= 219,700
Al 109,850
- 109,850
307 212+01™ 439,400 609,620 A170,220
= 219,700
Al 109,850
- 109,850
05 QIZtRIEr S 439,400 609,620 A170,220
OJI=dH 29 (SEMLIA)
439,400,000 439,400
= 219,700
Al 109,850
- 109,850
IIES|I U ES KR AS 464,830 168,750 296,130
= 232,440
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AT HEE2S
Za: AAE 1= 54
ol O elEet = EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 116,220
T 116,220
307 lztol & 464,880 168,750 296,130
= 232,440
Al 116,220
- 116,220
05 2ItRIE = 464,880 168,750 296,130
OJ=5| L ES X ALY 464,830,000 464,880
= 232,440
Al 116,220
- 116,220
LI XN EAE SALAL &=2 8| 121,191 74,086 47,105
Al 121,191
307 gl2tol & 121,191 74,086 47,106
Al 121,191
05 2IMRIE S 121,191 74,086 47,106
OAZINE XA SALL =2 8|
121,191,000& 121,191
Al 121,191
JALNENZAE SALA S XX 2| 4,950 4,900 50
Al 4,950
307 21201 & 4,950 4,900 50
Al 4,950
05 2I2HRIE S 4,950 4,900 50
OAZINE XA SALA SXIXAI2H|
4,950,000 4,950
Al 4,950
AUNENFAE SAHA A2H 8| 1,800 2,000 2200
Al 1,800
307 212+01& 1,800 2,000 A200
Al 1,800
05 212t =S 1,800 2,000 2200
OAULINE XA SALAE A Z 8|
1,800,000 1,800
Al 1,800
LN NFAE SAHA A S A 11,400 11,400 0
Al 11,400
307 glztol & 11,400 11,400 0
Al 11,400
05 git?(&=s 11,400 11,400 0
OAZINEXHAIY SALL EHg 4|
11,400,000 11,400
Al 11,400
orolEs A& 2,605,162 1,360,000 1,245,162




AT HEE2S
M AU JIE |4
ol O elEet = EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,823,614
Al 390,774
- 390,774
307 @I2to| & 2,605,162 1,360,000 1,245,162
= 1,823,614
Al 390,774
- 390,774
05 212t =S 2,605,162 0 2,605,162
ootol=ss X& 2,605, 162,000 2,605,162
= 1,823,614
Al 390,774
- 390,774
ol== gsdd+g A& 20,670 21,484 2814
Al 20,670
307 glztol & 20,670 21,484 2814
Al 20,670
05 git?(& = 20,670 0 20,670
ootole= 2s8d+g X
20,670,000 20,670
Al 20,670
SSF0tU=sE 2 226,848 220,776 6,072
= 113,424
Al 56,712
- 56,712
307 gl2to| & 226,848 220,776 6,072
= 113,424
Al 56,712
- 56,712
05 21t =S 226,848 0 226,848
OZs=s0lL=sH 29 226,848,000 226,848
= 113,424
Al 56,712
T 56,712
SS=0LIsE A X 40,000 30,000 10,000
307 elztol & 40,000 30,000 10,000
05 2I2tRIE =S 40,000 30,000 10,000
OSS=E0LIsH A XI&
40,000,000 40,000
OOIAIH EE 2 (2HIEX) 113,424 86,552 26,872
= 56,712
Al 28,356
- 28,3%
307 gl2to| & 113,424 86,552 26,872




AT HEE2S
M AU JIE |4
ol O elEet = EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 56,712
Al 28,356
- 28,356
05 git?(& = 113,424 86,552 26,872
OOOIAIH S E 2EHI(ZHIEX)
113,424,000 113,424
= 56,712
Al 28,356
- 28,356
OLOIAIE EH &1 & 29 265,856 263,104 2,752
Al 132,928
- 132,928
307 glztol & 265,856 173,104 92,752
Al 132,928
- 132,928
05 21t =S 265,856 173,104 92,752
OOLOIAtE S E 28| 265,856,000 265,856
Al 132,928
- 132,928
ChEshts X 922,153 782,027 140,126
= 327,023
Al 319,838
- 275,292
CrEshtEAEEsls 28 2,210 2,750 2540
201 er23| 1,360 1,800 N440
01 AtR2t2|HI 1,360 1,800 N4
Ot=2=IEXEE e #4+E
70,0002 x0H *23] 1,260
OU2eIEXZE e 0 ME
50,0008 *22] 100
203 HR=H| 850 950 A100
03 A= PR FAI| 850 950 A100
Ottzshts g8 =d
1,000, 0002 *85% 850
CHESHIEE X AL 10,000 10,000
307 @I2t01 & 10,000 10,000
04 QIZHHAMAIH 2 £ 10,000 10,000
OLHE3tE K& Ar 10,000,000 10,000
CtEshts St 368,519 376,965 A8,446
= 184,260
Al 92,129
- 92,130
307 @I2t01 & 368,519 376,965 A\8,446
= 184,260




AT HEE2S
Za: A4S I 4
el CEshts A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 92,129
T 92,130
05 2ItRIE = 368,519 376,965 N\8B,446
OttEabts Sdatatg
368,519,000& 368,519
= 184,260
Al 92,129
- 92,130
ZEO0IQX AHLSXA (20 NK) 20,000 20,000 0
= 10,000
Al 5,000
- 5,000
307 glztol & 20,000 20,000 0
= 10,000
Al 5,000
- 5,000
05 2IR”tRIE = 20,000 20,000 0
OZE0IgA FLe XA (=20 u=)
20,000,000 20,000
= 10,000
Al 5,000
- 5,000
CH23HS stdd] Tt Atgl2E ot e f= 220,626 90,900 129,726
= 110,313
Al 55,156
- 55,157
307 21201 & 220,626 90,900 129,726
= 110,313
Al 55,156
- 55,157
05 212t =S 220,626 90,900 129,726
Ot2=htE A2 220,626,000 220,626
= 110,313
Al 55,156
- 55,157
UEstlsasset 24 44,900 42,600 2,300
= 22,450
Al 11,225
- 11,225
307 elztol & 44,900 42,600 2,300
= 22,450
Al 11,225
T 11,225




AT HEE2S
M AU IIE |4
el CEshts A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 2ItRIE = 44,900 42,600 2,300
OUSHNRLEZY 24
44,900,000& 44,900
= 22,450
Al 11,225
- 11,225
CEstlFasset AHE X3 51,920 73,000 /21,080
307 elztol & 51,920 73,000 /21,080
05 212t =S 51,920 73,000 /21,080
OLI2BIDBAS T A K&
51,920,000 51,920
CHESIEXNIZ ALY SAHA eS28 X2 84,628 48,302 36,326
Al 84,628
307 el2to| & 84,628 48,302 36,326
Al 84,628
05 2ItRIE = 84,628 48,302 36,326
OUZ3IEX2 A SAHL =28 XI#
84,628,000 84,628
Al 84,628
CHESIEEXIZ ALY SAEA SXIE+ X2 3,850 3,650 200
Al 3,850
307 @20l & 3,850 3,650 200
Al 3,850
05 2IMRIE =3 3,850 3,650 200
OUE3IENZ A SAHL X8+ XI&
3,850,000 3,850
Al 3,850
CI2ISXZ ALY SAHA A238Hl X2 1,800 1,000 800
Al 1,800
307 21201 & 1,800 1,000 800
Al 1,800
05 2I2tRIE S 1,800 1,000 800
OLUIE3HEEXIE A SAEL A28 X
! 1,800,000 1,800
Al 1,800
CIEERZAIE SALA St X3 9,000 8,400 600
Al 9,000
307 212+01& 9,000 8,400 600
Al 9,000
05 212+ = 9,000 8,400 600
OUE2=IEXEAE SAL Sl
9,000,000& 9,000
Al 9,000
NEESE UE3tE A2 A 15,000 14,000 1,000
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AT HEE2S
M AL IIE 84
&2lr O=2shts N3 (SH &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Al 7,500
T 7,500
307 212t01™ 15,000 14,000 1,000
Al 7,500
- 7,500
05 212t =S 15,000 14,000 1,000
OXNgEste UZetE XA
15,000,000 15,000
Al 7,500
T 7,500
CHEebls e HEE A 7,000 10,120 A3,120
Al 7,000
307 @20l & 7,000 10,120 A3,120
Al 7,000
05 2IMRIE =3 7,000 10,120 A3,120
Ot=2=tE Xt HEE AL
7,000,000& 7,000
Al 7,000
CtEshts Ols 2¢ d22M & g XId 2,400 2,400 0
Al 2,400
307 @I2to| & 2,400 2,400 0
Al 2,400
05 212t S 2,400 0 2,400
OUE3HE Ols 2E A & X8 A
! 2,400,000 2,400
Al 2,400
CrEshts dsu=2 ) 6,000 4,000 2,000
Al 3,000
- 3,000
307 gl2to| & 6,000 4,000 2,000
Al 3,000
- 3,000
05 git?(& = 6,000 0 6,000
Ot2ebts dsZ2 -
6,000,000 6,000
Al 3,000
- 3,000
CHE3HS RDD1DHE JIEXIE At 5,000 5,000 0
Al 2,500
- 2,500
307 el2to| & 5,000 5,000 0
Al 2,500
- 2,500
05 git?(& = 5,000 0 5,000




A L2
H: 0B IIE 84
el CEshts A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OLI23IIE JIIHE IIEXZ A
5,000,000 5,000
Al 2,500
o 2,500
ZE0/QIR LXt2] XIRA 69,300 63,000 6,300
Al 34,650
2 34,650
307 2I2H0I& 69,300 63,000 6,300
Al 34,650
3 34,650
05 QIZtRIE2 69,300 63,000 6,300
OZES0I2IRF L2 XIRA
69,300,0002 69,300
Al 34,650
2 34,650
28 - JE 1 53,801,920 45,321,285 8,480,635
2 28,013,662
Al 18,698,196
+ 7,090,062
ALOIZFAHIAL J|EHEE 53,296,720 44,895,285 8,401,435
= 27,828,662
Al 18,605,696
? 6,862,362
SSDEY 12| XY (2YIEX) 7,646,682 5,643,113 2,003,569
= 4,588,008
Al 2,141,071
2 917,603
307 2I2H0I & 7,646,682 5,643,113 2,003,569
= 4,588,008
Al 2,141,071
3 917,603
10 AlBISXALH B 2HY 2 X 7,646,682 5,643,113 2,003,569
OESNEY QIAH|(2HIEX)
7,646,682,00024 7,646,682
2 4,588,008
Al 2,141,071
3 917,603
SRR 01| XA (KHH) 28,362 47,39 19,030
307 QI2H0I & 28,362 47,39 19,030
10 AlBISXALH B 2HY 2 X 28,362 47,3% 19,030
O2SnE oI2(2SE HICI0RI0IY)
16,421,000 16,421
OESNIY IAH|(ZSE IS0(RI01Y)
11,941,002 11,941
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2A: 2SI
Hu: BRI X
oelr SRO0IESABIAL J|BEE EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
HE0IXE o201 Zeld 21| N (AlBIE=E) 248,160 220,800 27,360
Al 124,080
- 124,080
307 212+01™ 248,160 220,800 27,360
Al 124,080
- 124,080
10 Al S XA EEHE2IHIE X 248,160 220,800 27,360
OZR0IX & ofRlolE Zel2 12id] X2 (
AMHIEZE) 248, 160,000& 248,160
Al 124,080
- 124,080
SFNAIA HRME XN2(BZWAF, AZEE ME A} 2,483,350 2,433,333 50,017
o124dl)
= 1,490,000
Al 695,350
- 298,000
307 2I2+01A 2,483,350 2,433,333 50,017
= 1,490,000
Al 695,350
- 298,000
10 AIEISXAIEHE2ZHIEXR 2,483,350 2,433,333 50,017
O X WAL, HEBE MEWAL QI24H|
2,483,350,000& 2,483,350
= 1,490,000
Al 695,350
- 298,000
SEUNNIA MRS X2 (CHMLAE o148]) 65,729 62,600 3,129
= 32,865
Al 16,432
- 16,432
307 2I2+01™ 65,729 62,600 3,129
= 32,865
Al 16,432
- 16,432
10 Al =S XA EEHER2IHIE X 65,729 62,600 3,129
OUHM AL 2124H| 65,729,000& 65,729
= 32,865
Al 16,432
- 16,432
BRI MRS KA (RA2REZINSE]) 1,400,000 1,343,694 56,306
= 840,000
Al 392,000
- 168,000
307 212+01 A 1,400,000 1,343,694 56,306




SN GE2SD
B 2S5 X8
ol ER0IE2sAHIAS JIEHEE (EEEE))
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 840,000
Al 392,000
- 168,000
10 Al = XA EHE2FHIE X 1,400,000 1,343,694 56,306
OWAIZReZN | 1,400,000,000& 1,400,000
= 840,000
Al 392,000
- 168,000
BEUNNI HRJIML X(DAIRRAE =) 55,000 54,000 1,000
= 33,000
Al 15,400
- 6,600
307 212+01™ 55,000 54,000 1,000
= 33,000
Al 15,400
- 6,600
10 Al =S XA EBEE2IHIE X 55,000 54,000 1,000
OQUAMBHAE =Y 55,000,000& 55,000
= 33,000
Al 15,400
- 6,600
EFAF HLIMSBI(ABIEX) 1,271,262 1,216,312 54,950
Al 635,631
- 635,631
307 212+01™ 1,271,262 1,216,312 54,950
Al 635,631
- 635,631
10 Al = XA EHE2FHIE X 1,271,262 1,216,312 54,950
SRWA HRINEHI (AP EX)
1,271,262,000& 1,271,262
Al 635,631
- 635,631
BEWAF HLIHEEI(KHA) 921,960 877,200 44,760
307 212+01 A 921,960 877,200 44,760
10 Al =S XA EBEER2IHIE X 921,960 877,200 44,760
OBSUWA H2ME X (XHA) 921,960
—BFUA =SX=Y 662,400,000 662,400
—&J|I25+Y 103,560,000& 103,560
—ZootMEES AR =SX+Y
26,400,000& 26,400
—=38 HIU0e01E 2R+
9,600,000& 9,600
—EFWANA BEY 120,000, 000& 120,000




AT HEE2S
M 28015 X9
oelr SRO0IESABIAL J|BEE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oglold 2L (LM w7h) 51,943 51,943 0
= 31,166
Al 14,544
- 6,233
307 212+01& 51,943 51,943 0
= 31,166
Al 14,544
- 6,233
10 Al SXA2EE 22X 51,943 51,943 0
Oul T =H| 51,943,000 51,943
= 31,166
Al 14,544
- 6,233
Oeloly 2SI (X2l) 2,400 2,400 0
= 1,440
Al 672
- 288
307 gl2to| & 2,400 2,400 0
= 1,440
Al 672
- 288
10 Al SXAAEEHE 22X 2,400 2,400 0
Oxtg=ahl 2,400,000& 2,400
= 1,440
Al 672
- 288
S=012l018 29 N2 114,560 101,828 12,732
Al 57,280
- 57,280
307 gl2to| & 114,560 101,828 12,732
Al 57,280
- 57,280
10 Al SXAEEE 22X 114,560 101,828 12,732
OS+0121017 29 N
101,020,000 101,020
Al 50,510
- 50,510
OZOjotaE XA XI&
13,540,000& 13,540
Al 6,770
- 6,770
IS OlolE K& 302,198 276,952 25,246
Al 163,099
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SN GE2SD
Hu: BRI X
ol SROIESAUIAS JIEtESE (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 139,099
307 gl2tol & 278,198 264,952 13,246
Al 139,099
- 139,099
10 Al SXA2EE 22X 278,198 264,952 13,246
Oeldd 0elold 2|
278,198,000 278,198
Al 139,099
T 139,099
402 QIF X201 & 24,000 12,000 12,000
Al 24,000
02 QI TH2AILEE (01X THE) 24,000 12,000 12,000
OelEe 0lelold SBHa
24,000,000 24,000
Al 24,000
GISIUESER o g= 99,500 67,756 31,744
Al 49,750
- 49,750
307 elztol & 99,500 67,75 31,744
Al 49,750
- 49,750
10 Al SXAAEEHE 22X 99,500 67,75% 31,744
O0el0ly ditet| 99,500,000 99,500
Al 49,750
- 49,750
=38 0elold 2g8X& 11,200 10,000 1,200
307 21201 & 11,200 10,000 1,200
05 2IR”IRIE = 11,200 10,000 1,200
O=3¢ Hittoizloly 24|
8,000,000 8,000
O=&d &&E0e0ld 24|
3,200,000& 3,200
012101& SH5AlIoH 22ZFH| X3 741,324 722,100 19,224
Al 370,662
- 370,662
307 @I2t01 & 741,324 722,100 19,224
Al 370,662
- 370,662
10 Al2ISTIAIEEE 22X 741,324 722,100 19,224
OO 2l0lE CSH5HI0F 22dH| X2
725,604,000 725,604
Al 362,802
- 362,802




AT HEE2S
Hu: 2501 1
oelr SRO0IESABIAL J|BEE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S ENEEERENEEEERE
15,720,000& 15,720
Al 7,860
- 7,860
HE NASS0ts 2234l X2 56,880 75,192 18,312
Al 28,440
- 28,440
307 212+01& 56,880 75,192 18,312
Al 28,440
- 28,440
10 AlRISTIAIEEE 22X 56,880 75,192 A18,312
OBE HASEOS Rl N
56,880,000& 56,880
Al 28,440
- 28,440
IR0INEANE RE2REEsE X2 524,147 571,344 N4T 197
Al 199,997
- 324,150
307 212+01& 524,147 571,344 N4T 197
Al 199,997
- 324,150
10 Al2ISTIAIEEE 22X 524,147 571,344 NAT 197
OBENASS 015 FRINAE 22
g25s AH 26,779,000 26,779
Al 11,158
- 15,621
OUAHIHE RRRgE=: A&
41,484,000 41,484
Al 18,668
- 22,816
ORZREE=E XN 445,488,000 445,488
Al 166,236
- 279,252
O0el0lE 2A=0I0lS 25M SRREES
= 10,396,000 10,3%
Al 3,935
- 6,461
Oelold 2=l Ot 25AHI0 2528 XI& 25,760 33,600 AT,840
Al 12,880
T 12,880
307 lztol & 25,760 33,600 AT,840
Al 12,880
- 12,880
11 AMEISXAIEEXS 25,760 33,600 AT,840
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AT HEE2S
Hu: 2501 1
oelr SRO0IESABIAL J|BEE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O0el0ld 2=l OlS 2BMI0L E]= XI&
25,760,000& 25,760
Al 12,880
- 12,880
HEesg I 430,2%6 772,662 A\342,366
= 322,722
Al 75,302
- 32,272
301 LEtE N = 430,2% 772,662 A342,366
= 322,722
Al 75,302
T 32,272
01 Al EEAS6S (2 REEM 430,2%6 772,662 A342,366
Otged=s+4 Xa 430,296,000& 430,2%6
= 322,722
Al 75,302
- 32,272
2220 X (o) 12,112,361 8,339,450 3,772,911
= 9,084,271
Al 2,119,663
- 908,427
301 LELEN S 12,112,361 8,339,450 3,772,911
= 9,084,271
Al 2,119,663
- 908,427
01 Al EEHSFS (B REXM 12,112,361 8,339,450 3,772,911
O=230] X (For+g
12,112,361,000& 12,112,361
= 9,084,271
Al 2,119,663
- 908,427
ey 29 7,568,970 6,784,434 784,536
Al 7,568,970
307 @20l & 7,568,970 6,784,434 784,536
Al 7,568,970
11 MISXAEEE 7,568,970 6,784,434 784,536
O=cltd B5= 6,136,930,000& 6,136,930
Al 6,136,930
O=cltd g8+E 1,432,040,000& 1,432,040
Al 1,432,040
g=0t 252 K& 15,151,825 13,655,264 1,496,561
= 11,363,869
Al 2,651,569
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2A: 2SI
M B0 X3
CI9l: GROIESALIAL JlutatE (cre:xigl)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
- 1,136,387
307 212+01™ 15,151,825 13,655,264 1,496,561
= 11,363,869
Al 2,651,569
- 1,136,387
11 AL =SXAMEES 15,151,825 13,655,264 1,496,561
Ogwot 52 XA 15, 151,825,000 15,151,825
= 11,363,869
Al 2,651,569
- 1,136,387
NI XHSE (AIZEHN 2 82,642 46,000 36,642
= 41,321
Al 20,661
- 20,660
307 2I2+01A 82,642 46,000 36,642
= 41,321
Al 20,661
- 20,660
10 IS SXAIEHE2ZHIEX 82,642 46,000 36,642
OANZIXSE(AIZHHN B =
82,642,000 82,642
= 41,321
Al 20,661
- 20,660
ERolTe 2Ax 10,662 9,804 858
201 L2 AH| 8,962 7,904 1,058
01 AtR2elt] 8,562 7,404 1,158
OESEMAS 2
100,000 *13H 43| 5,200
Ot A= 3 2Y
100,000 *7H*13| 700
OExooe 52 /I8t A2FH|
800,000& 800
O0golg et & WA SE=
3,800& *1603] 608
OEsIEEZ ¥ =38 &5 gF 8| 524
—Sd= 3,800& %1003 380
—R= I 2F MNE
24,0003 61 144
Odt=02I0lE EXl gxtz
380,000& 380
OLEEY HH2AT M2 EE S5
(gxtd &) 350,000& 350
02 B22gH| 400 500 A100
ORERI 400,000 400
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AT HEE2S
Hu: BRI X
el FROIESAMEIAS JIEES EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
203 HR=H] 1,700 1,900 A200
03 A=A 2= 1,700 1,900 A200
OEFAIH =& 1,000, 0002 *85% 850
OESAE g% =8 1,000,000 *85% 850
020y A2 S 22,000 25,000 A3,000
201 fer=3| 22,000 21,000 1,000
03 A= I 22,000 21,000 1,000
OS7 ER0IE st Aloly A
22,000,000 22,000
CEEE FH2aE 29 N 254,984 273,988 19,004
Al 127,492
- 127,492
307 elztol & 254,984 273,988 219,004
Al 127,492
- 127,492
05 2I2tRIE S 254,984 273,988 19,004
OSYTY HUAC 22| X
254,984,000 254,984
Al 127,492
- 127,492
S3EOE 0 SZHI(MEALY) 367,532 343,864 23,668
Al 323,428
- 44,104
307 elzto| & 367,532 343,864 23,668
Al 323,428
- 44,104
1 AMEISXAIEEXS 367,532 343,864 23,668
Os&E0el0ld 24|
367,532,000 367,532
Al 323,428
- 44,104
S3SE020ld XZcld 2l 113,842 112,530 1,312
Al 56,921
T 56,921
307 elzto| & 113,842 112,530 1,312
Al 56,921
- 56,921
11 AMEISXAIEEXS 113,842 112,530 1,312
OSEE0el0ld £eld el
113,842,000 113,842
Al 56,921
- 56,921
SSE0E0E 83 N 12,628 10,600 2,028
Al 6,314




AT HEE2S
B 2S5 X8
ol SROIESAUIAS JIEtESE (SH9 H2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
- 6,314
307 gl2tol & 12,628 10,600 2,028
Al 6,314
- 6,314
11 AR SXIAIEE X 12,628 10,600 2,028
O3380iel0ly 4835 X3(Rotet 29
Hl) 12,628,000& 12,628
Al 6,314
T 6,314
S3ENH0E Felutd SE JHHHl X 70,700 0 70,700
Al 35,350
- 35,350
307 @20l & 70,700 0 70,700
Al 35,350
- 35,350
11 ARRIS XA E X 70,700 0 70,700
OSSE0e0ld Felitd SEIME
70,700,000 70,700
Al 35,350
- 35,350
olold R4 N2 932,075 559,152 372,923
Al 652,781
- 279,294
307 el2to| & 932,075 559,152 372,923
Al 652,781
- 279,2%4
11 ARRIS XA E X 932,075 559,152 372,923
OOfRI01E HESATA Xg
608,388,000 608,388
Al 365,033
- 243,355
OO0l SAHl AXtetat XA (04
119,798,000& 119,798
Al 83,859
- 35,939
OO0gl0Iy SAIHI AX2tst X (S04)
203,889,000 203,889
Al 203,889
Z20IXE Ol0lIE OMIEr 28I X2 51,000 98,400 N7 ,400
Al 25,500
- 25,500
307 212t01 & 51,000 98,400 ANA47,400
Al 25,500
- 25,500
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AT HEE2S
ZH: 2% 1% K8
ol ER0IE2sAHIAS JIEHEE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
10 AlRISXIAIEEE 22X 51,000 98,400 A47,400
OE=F0INE 0elold oMt 28| XI&
51,000,000& 51,000
Al 25,500
- 25,500
01201y azA=Hl X 14,800 0 14,800
307 21201 & 14,800 14,800
10 Al SXAEEE 22X 14,800 14,800
OOfRI0IE ARASH X
14,800,000 14,800
ORIl 2SN (NS &SHI) 10,800 10,800
307 elztol & 10,800 10,800
11 AMEISXAIEEE 10,800 10,800
OXSHE e ShI 10,800,000 10,800
0201y E=0F &E2E It X2 21,458 18,678 2,780
Al 10,729
- 10,729
307 @I2t01 & 21,458 18,678 2,780
Al 10,729
- 10,729
11 AMRISXAEEES 21,458 18,678 2,780
O0el0lE HWHots IS JIUHIS
21,458,000 21,458
Al 10,729
- 10,729
ool otsstti(ael)XIZ2XH 4,000 5,000 21,000
301 EtE2 N = 4,000 5,000 21,000
03 A2 E A0S (XL THH) 4,000 5,000 A1,000
OO0gloly otsstl (Aeh) X=X
400,0002 % 10H 4,000
O12l01E SsiHA 38A [AHA X3 13,728 0 13,728
Al 13,728
201 er2 3| 13,728 0 13,728
Al 13,728
01 At2tltl 13,728 0 13,728
OO0Bl0ld SethA 38A! ZAotE XI&
13,728,000& 13,728
Al 13,728
H2lolE Jls&sEt 505,200 426,000 79,200
= 185,000
Al 92,500
- 227,700
ooy JIsE22 (X)) 35,200 44,000 28,800
402 2I2E X201 & 35,200 44,000 28,800
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G HRGEEE
Hu: 2% 15
le

Cel: oelold JIs&st EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 2IZHRAETAIHHI 35,200 44,000 /8,800
OBSXA0RIE ISLELONS)
35,200,000& 35,200
Oeloly &s(Ex) 370,000 240,000 130,000
= 185,000
Al 92,500
- 92,500
401 AIEHIZ SO 350,000 200,000 150,000
= 175,000
Al 87,500
- 87,500
01 Al&H| 347,200 198,400 148,800
O3S 2|22 (500AITH 014})
347,200,000 347,200
= 173,600
Al 86,800
- 86,800
03 Al 2 CHHI 2,800 1,600 1,200
O3S 2|22 (500t 014})
2,800,000& 2,800
= 1,400
Al 700
T 700
402 212t X+=01 & 20,000 40,000 /20,000
= 10,000
Al 5,000
T 5,000
03 2IZHRAETAI I 20,000 40,000 /20,000
O=ZE0{&l0IZ JIXHHEI(500AICH 014f)
20,000,000& 20,000
= 10,000
Al 5,000
- 5,000
Ofelold &= (XtH) 100,000 140,000 240,000
402 QIF X201 & 100,000 140,000 240,000
03 2IZ+RAETAIS I 100,000 140,000 40,000
O=3E0&0I& It JIXtH8I(500AICH O
&) 100,000,000 100,000




